BAE 521 Road & Bridge
(1) What are the factors that the afflux (rise in upstream water level) depend on?
(2) Sketch the flow profile through the bridge & write the equation for change in water level.
(3) Write the equation for long contraction.
(4) Sketch the flow profile with choke flow condition.
(5) Write the equations for Discharge computation.
(6)Write the equation for Scour depth under the bridge.

(7) Write the equation for  Scour around bridge piers.
(8)Explain the purposes of  Scour protection works around bridge piers.
(9)  A road bridge of seven equal span lengths crosses a 106m wide river. The piers are 2.5m thick, each with semicircular noses and tails, and their length-breadth ratio is 4. The streamflow data are given as follows: discharge=500cumecs; depth of flow at downstream of the bridge = 2.50m. Determine the afflux upstream of the bridge. 

(10) Express the formula to find the  limiting values of σ (assuming uniform velocity at section 2)for critical flow.
